BMOH N R E

aF 3MFE TH

HRA A E AR A RS

ST EHT



1. RESEHESL

2. IRHR

4. aL

5. #

4

P

i

Gl B AR 2

iy S T
(B) %8 5 RAR L TR (EREET C)
(ZE) e IR H i AR M1 I T C)
(5)
=)
(5)
=)
(H)
=)
(H)
()
TG A R 5
TR AT 130
BT BEERAER 7 35
TR R Al TR 5 1 7%
BHUfRNT AR 735
i T 1 5 1
HERHERERL
BAERS IEREEY) 1 4 f5FT
K 3 5 fHFT
W EMEERE
FUEHR R 5 8 fHfT
BT 2 9 0Et
FERAE R iR ET 5 1%
SR VERR 5 3#
bt T 2R 5t
FE A 2 4 fHHr

H &f 34 8H TH ~ E oW

44F

8H

1H ( 360 HF)



MO AN @R # P- 1 H
A4 |%@§Eﬁ$ﬁi§ RIS AT AR
™ & - 4 Boo- A B BN iy &  F i 2

227 U — F B OV AR =K 1 7,031, 456
HEMERRE  FEHETIA SR 58
HEMERRE ST okl 290

AR - HY - EIAE = 1 112,503
wEMERE wm - 0 - w1 GUEHRED = 1

Eat3d = 1 3,429, 100

HEFFEOR A - B%a15E

& 2L A TR AR 5 = 1 31, 198, 309
B AT = 1
WG M = TR et BT BERIBR ARG (EV D) H 1
IR =R at BT BERIBR ARG (T V) i 1
ERM AR R BT BESIER EWAE (LY i 1
ERRMIEA R R BT R EE: ER)IE (LY i) b 1
ERM AR R BT BERER  BREG (T2 7') T 1
M AR R BT BEIBR JIEE (R0 b 1
M AR R BT BESBR JIEE (T V) b 1
MM TR G BHIETRERE A2 a & 2
BRI EM TR G B EMRERE A2 b e 4
BRI G B RS A 2 ¢ 3 3
BRMEMTRER G BHIERERE B2 a e 2
BRMMEM TR F B EmEERE B2 b & 2
IR AR AT AR SRR E B 2 ¢ He 1
MM EEARE BT B RE G C 2 b e 3
WM AR aT BT AR RE (B H 1
BTG G BT MBI RE (F 0 T 1
M AR R BT TSR BIEAE (EV ) b 1
SRR G BT MR ERJ)IE (L) b 1
M AR R BT THEAR BFRE (7% T 1
BRI ET  BhAOMNT M JIEE (E0 ) b 1
BRMEMTRER G BT mEmR JIEE (TR T 1
B RE% G i TS SR & 4
BN TRER Gt i TS (L & 1
HEFFERERR T FABDS (bR A BT 10
HMEFFIETESRET  YKHBDH LA &Y B [0 4
HMERFIETES FKA (5B 15
HEFHERERREE SUKB T 20
WEMEERE BRI R & 5
M A FEAEVERR A e 53
Bty TEREE BRMAEIRA &7 12
My TEREE BZMERKD %P 12
BRMMEMTRER G BRI A& =, 1

| RN E AR E = 1 3, 338, 549




B A N & P- 2 H
RSB |*§ﬂi BENEIE  IRIAE I R
T f& £ i) M B BN iy &  F i 2

BRI FT B AR (BN BERER il (Ev i) = 1
BRI TR G A AR (BN BEERER Al (T i) = 1
ERM AR R AR @A) BEERER EBAE (EVi) =X 1
BRI R, (BheofghT) IEBUEE: RA)IE (L) = 1
WERMIEAM R et BRI (@A) BERER BRRAE (U8 = 1
BRI G B AR (BN  BEEER JIEE (B i) = 1
TERM AR AT AR R (BIAVfRNT)  BERIGE: JIIEAE (T VM) = 1
MMM G B AR (BIROMNT)  MEATR Rl (B 2V 1
BRI G B AR (BIROMENT)  MEATR  RidE (T i) = 1
&M AfRE at ARG (BhEfRdT)  MHEAi® R (B0 &) = 1
GRMEM R e BRI @A) mEATR ESJIE (Evip) =X 1
WERMmEA R et BRI @A) MEATR  BIRE (T ) = 1
ERM AR AT AR EOMENT)  mhERTR JIEE (EVf) = 1
TBRMEA R T ERRAE R (EheofehT) iR  JIEHE (50 2V 1
M= R et AW - 2 - f5yHE EV 1

Z O = 1 16, 800, 290

— P A = 1 27, 644, 793

a5k = 1 89, 555, 000




